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Dawson College: Calculus II - Commerce: 201-NYB-05 S14 May 7, 2012

Last Name; SO 7 ZMS

First Name;:
Student ID:

The length of the test is 1hr and 45min. You may use a nonprogrammable, nongraphing scientific
calculator. Remember to clearly show all of your work and to use correct notation. Do not use

decimals unless otherwise stated.

Question 1. (4 marks ) Use the trapezoidal rule with 5 — 4 to approximate the following integral
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(you may use decimals).
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Question 2. (5 marks) Find the area

under the function f(x) = xe=5*
interval [0, ). Remember to use cor

and above the x-axis on the
rect notation.

(Do not use decimals).
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Question 3. (5+2 marks )

(a) Solve the following differential equation. (Solve for y in your final answer).
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(b) Find the particular solution of the above differential equation that satisfies the initial condition

¥(0) = —2. (do not use decimals)
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Question 4. (4+2 marks )
(a) Find the third Taylor polynomial of f(x) =

V2x+1 atx = 0 (do not use decimals)
‘F(ﬁ): ';;c + | #(O\ -
'?.(7‘3 =2 ‘ihxﬂY"L = (2;«—“)“/2 I =1
{ _ e ‘#(((0) - u(
( '(?\x = ~_2l;. 9. C 9‘7""‘3— B/L - - (7\7("‘\33/1 >
[{1% —S- (\((03 = 3
'@ (7\3 :":;31:(2-) (lx..—w;/z = m (2t % 'g

T3 = 6 + $10) (x -0y + 210 (x-cy* + 7 ¢

——o\g

2 3

I R R R N ST S
2 2

'
t

(b) Use this Taylor polynomial to approximate /1.5 (you may use decimals).
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Question 5. (2 marks) Find the nth tern if the following sequence
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Question 6. (2+4+3 marks) Determi
Séquence converges find the limit of the
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Question 7. (6+5 marks) Determine if the following series converge or diverge. If a series con-
verges find the sum.
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